PATHOLOGY EXAM 2 2002
6. Which of the following is a characteristic feature of malignant cells?

A. Hyperchromatism

B. Pyknosis

C. Karyolysis

D. Nuclear uniformity

E. Karyorrhexis

7. Which of the following is the most unequivocal biological feature of malignancy?

A. Encapsulation

B. Metastasis

C. Calcification

D. Slow growth rate

E. Adequate functional differentiation

8. Which of the following is a proper name for a malignant neoplasm of the submandibular gland?

A. Adenosarcoma

B. Glandoma

C. Adenoma

D. Chondrosarcoma

E. Adenocarcinoma

9. Which of the following is a forerunner of malignancy?

A. Hypoplasia

B. Hypertrophy

C. Anaplasia

D. Agenesis

E. Dysplasia

10. Which is the most common cause of cancer death in women in the USA?

A. Breast cancer

B. Uterine cancer

C. Lung cancer

D. Ovarian cancer

E. Colon cancer

11. What are proto-oncogenes?
A. Normal cellular genes encoding growth promoting factor

B. Viral DNA incorporated into the cellular genome

C. Mutated cellular genes encoding growth inhibiting factors

D. Viral RNA incorporated into the cellular genome

E. Altered cancer suppressor genes present in premalignant conditions

12. Which of the following is a cancer suppressor gene?

A. C-fes

B. C-sis

C. Rb

D. C-ras

E. C-myc

13. Heavy cigarette smoking is implicated in the causation of oral cancer and lung cancer. Which procarcinogen is present in cigarette smoke?

A. Cyclophosphamide 

B. Chlorambucil

C. Nitrourea

D. Benzo[a]pyrene

E. Aflatoxin

14. Genital papilloma are caused by

A. Retrovirus

B. Herpes virus type I

C. Epstein Barr virus

D. Herpes virus type 2

E. Human papillomavirus

15. Philadelphia chromosome associated with neoplastic proliferation results from

A. Point mutation of a proto-oncogene
B. Point mutation of a cancer suppressor gene

C. Point mutation of an apoptosis gene

D. Chromosomal translocation 

E. Chromosomal nonconjunction

16. Loss of body fat and lean body mass of a patient with a malignant neoplasm is termed:

A. Paraneoplasia

B. Atrophy

C. Cachexia

D. Dystrophy

E. Dysplasia

17. Which grade of squamous cell carcinoma has the best prognosis?

A. Grade I

B. Grade II

C. Grade III

D. Grade IV

18. A oral squamous cells carcinoma on the right mandibular ridge measured 6 x 4cm. This cancer has infiltrated into the buccal muscles and eroded a large portion of the mandible. No neck lymph node enlargement or distance metastasis was detected. Which stage is this cancer at?

A. Stage 0

B. Stage I

C. Stage II

D. Stage III

E. Stage IV

19. What is the prime causative factor of skin cancers?

A. Heavy cigarette smoking 

B. Excess alcohol consumption

C. Radon radiation in the environment

D. Ultraviolet radiation from sunlight

E. Oncogenic virus infection

20. Which cancer of the skin is a slow-growing tumor that rarely metastasizes?

A. Sebaceous gland carcinoma

B. Squamous cell carcinoma

C. Sweat gland carcinoma

D. Basal cell carcinoma

E. Melanoma

21. Edema associated with Kwashiorkor is due mainly to:
A. An increase in hydrostatic pressure in the blood vessel

B. A decrease in osmotic pressure of the blood

C. A decrease in osmotic pressure of the connective tissue

D. In increase in capillary permeability

E. An increase in osmotic pressure in the connective tissue

22. Vitamin A deficiency causes:

A. Columnar metaplasia of squamous epithelium

B. Cleft palate

C. Night blindness

D. Anemia

E. Sialorrhea

23. Vitamin D deficiency in adults causes:

A. Osteosarcoma

B. Rickets

C. Hypercalcemia

D. Osteomalacia

E. Hypercalciurea

24. Vitamin K deficiency induced hemorrhage diathesis is due to

A. Weakened vascular wall

B. Hypercoagulability of the blood

C. Thrombocytopenia

D. Defective von Willebrand’s factor

E. Defective clotting factors

25. Scurvy results from deficiency of:

A. Zinc

B. Vitamin B1

C. Vitamin C

D. Niacin

E. Pyridoxine

26. The principal class of antibody in Type II hypersensitivity reaction is:

A. IgA

B. IgD

C. IgE

D. IgG

E. IgM

27. The clinical manifestations of systemic lupus erythematosus is due mainly to:

A. Production of immune complexes and a type III hypersensitivity reaction

B. Granulomatous inflammation

C. A cell mediated reaction due to delayed type hypersensitivity

D. Antibodies binding to antigens in periarticular ligaments of cervical spine

E. A deficiency in humoral immunity

28. Antibodies to which of the following antigens are more commonly found in the serum of patients suffering from Sjogren’s syndrome than other autoimmune diseases?

A. Centromere components

B. SS-A and SS-B

C. Double stranded DNA

D. IgG

E. Scl-70
29. Human immunodeficiency virus (HIV) enters CD4+ T cells by binding which of the following cell surface molecules?
A. CD4

B. The T cell receptor antigen binding site

C. C3b receptor

D. Fc receptor

E. CD21

30. DiGeorge’s syndrome results in:

A. Decreased numbers of mature B cells in blood and lymphoid tissue

B. Marked enlargement of the thymus

C. Susceptibility to intracellular viral and fungal infections

D. Increased numbers of atypical T cells in blood

E. Hyperthyroidism

31. The mass of inflamed granulation tissue within the joint space of patients suffering from rheumatoid arthritis is known as:

A. A granuloma

B. A pannus

C. A serous nodule

D. A synovial fibroma

E. Ankylosing spondylitis

32. Rheumatoid factor is:

A.  The gene on chromosome 22 that controls antibody formation to components within joint tissue

B. The genetic mutation on chromosome 14 responsible for extensive cell mediated immune reaction present in rheumatoid arthritis

C. The generic name for all viruses believed to initiate inflammatory reaction leading to rheumatoid arthritis

D. A patient’s IgG antibodies that react to his/her own IgG

E. Definitely diagnostic for systemic lupus erythematosus

33. The CDC Phase II of HIV infection:

A. Is the phase of acute manifestations associated with initial infection

B. Is largely asymptomatic as the body’s immune response tries to hold the spread of the viremia

C. Begins when an HIV infected patient begins to develop generalized, persistent lymphadenopathy and recurrent infections

D. Is defined by a circulating CD4+ T cell count of <200 μL

E. Is defined by the presence of esophageal candidiasis and Kaposi’s sarcoma

34. A patient with HLA-B27 haplotype has 90-fold increased risk of developing:

A. Rheumatoid arthritis 

B. Ankylosing spondylitis 

C. Sjogren’s syndrome 

D. DiGeorge’s syndrome

E. Systemic lupus erythematosus

35. Clinical manifestations of systemic lupus erythematosus include:

A. Butterfly rash of face

B. Inflammation of heart tissues, e.g., pericarditis 

C. Inflammation of synovial tissue, e.g., arthritis

D. Chronic erythematosus inflammation of oral cavity

E. All of the above

36. A ferruginous body is:
A. An alveolar macrophage filled with carbon particles 

B. A large mass of pulmonary fibrosis due to inhaled silica dust

C. A well defined zone of hemorrhage in lung tissue

D. Filamentous asbestos fibers covered with iron containing pigment

E. A mass of candidal fungi

37. How does chronic lead poisoning affect the blood?

A. There is sharp decrease in lymphocyte numbers

B. Lead interferes with heme synthesis causing a microlytic hypochromic anemia

C. Lead  causes a pronounced loss of hematopoietic bone marrow

D. Lead interferes with platelet function causing pronounced bleeding disorder

E. Neutrophils lose the ability to phagocytose bacteria

38. Long term inhalation of tobacco smoke predisposes to which of the following diseases?

A. Atherosclerosis 

B. Bronchogenic carcinoma

C. Bladder carcinoma

D. Thrombus formation

E. All of the above

39. Unlike coal and silica dust particles, inhaled asbestos particles are most likely to impact:

A. In the upper portion  of upper and lower lobes

B. In the bronchi

C. In the peribronchial lymph nodes

D.  Near the pleural surface of the lower lobes
E. In the upper portion of the upper lobes

40. The end stage disease of chronic lung exposure to amounts of coal or silica dust is:

A. Tuberculosis

B. Foreign body granuloma

C. Pulmonary massive fibrosis

D. Chronic bronchitis

E. Pulmonary effusion

41. Mesothelioma of the lung has a very high association with:

A. Cigarette smoking

B. Chronic exposure to gasoline fumes

C. Chronic exposure to and ingestion of lead

D. Chronic exposure to asbestos

E. Chronic exposure to beryllium

42. The most hazardous form of asbestos to be inhaled is the:

A. Crystalline silicate form

B. Stiff, brittle amphibole form

C. Soluble chrysolite form

D. Crystalline quartz form

E. Anthracite form

43. Following a dose of 200-500 cGy of total body ionizing radiation, the major clinical manifestations are the result of damage to:

A. The brain

B. The skeletal muscles

C. Bone marrow and intestinal epithelial lining

D. The heart

E. The skin

44. The breakdown product of ethanol that is hypothesized to cause most of the organ and tissue damage in chronic alcoholism is:

A. Lactic acid

B. N-acetyl glucosamine 

C. Acetaldehyde

D. Acetic acid

E. Low molecular weight ketones

45. Long-term (over 10 years) estrogen therapy is post-menopausal women gives rise to greatest risk for:

A. Cardiovascular disease

B. Hypertension 

C. Cervical cancer

D. Endometrial cancer

E. Ovarian cancer
